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2008-09 District Competition

Match #17 (Regular Season)


These questions are for use in the Virginia High School League’s Scholastic Bowl District regular season competition. These questions were originally used in the 2008 Missouri State High School Activities Association State tournament. 

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
Its symbol is an enso, which the unenlightened might mistake for a capital ‘O.’

It was called Chan in China, where it emerged in the 7th century AD, and then entered Japan. What sect of Buddhism focuses on meditation? 

ANSWER: Zen Buddhism

2.
Even while using this method, a few words, such as ‘were’ and ‘you,’ must still get memorized. This method of teaching reading is in direct opposition to whole language and encourages students to sound out words from letters. What is this technique associated with the telephone number 1-800-ABC-DEFG? 

ANSWER: phonics
3.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is i raised to the 80th power? 


ANSWER:  1
4.
This seven-letter word comes to us from a Latin word meaning ‘ours.’ Outside of medicine, it refers to a popular but ineffective way of solving a problem. What word usually refers to a medicine sold by a quack? 

ANSWER: nostrum
5.
He built the Uraniborg, where he made his field’s most accurate measurements at the time.  In a 1566 duel, he lost part of his nose.  Name this Danish astronomer whose observations were used by Johannes Kepler to establish the laws of planetary motion.

ANSWER:
Tycho Brahe
6.
In this novel, the tailor Caderousse fails twice to redeem himself. Its protagonist also gets revenge on Danglars the banker and Villefort the prosecutor. Abbé Faria gives Edmond Dantes the location of buried treasure in what novel by Alexandre Dumas? 

ANSWER: The Count of Monte Cristo 
7.
This country is fighting left-wing guerrilla groups, the ELN and FARC. Human rights concerns led House Democrats to quash a proposed free-trade deal. Alvaro Uribe is the president of what South American country whose capital is Bogota? 

ANSWER: Colombia 

8.
John Michell predicted their existence in 1783.  They may leak through Hawking radiation, and types of them include Reissner-Nordstrom, Kerr, and Schwarzschild.  Name this object whose gravitational power is so strong that light cannot escape it.

ANSWER:
black hole(s)

9.
This river, whose source is the Lasagongma Spring, is called the Lancang, or ‘turbulent river’ in China. It is called the ‘Mother of all rivers’ in Lao and Thai and ‘Great River’ in Khmer. What river’s delta forms most of the southern region of Vietnam? 

ANSWER: Mekong River

10.
Although beaver dams are good for them, human-built dams are bad for them.  Types of this trout relative include cherry, chum, sockeye, Atlantic, pink, Coho, and Chinook.  Name this type of fish known for traveling upstream to spawn.

ANSWER:
salmon
11.
He lost the Bishops’ Wars against Scottish rebels. At his trial, he declared that as a monarch, no court had jurisdiction over him. He lost the English Civil War to the forces of Parliament. On January 30, 1649, what English King lost his head? 

ANSWER: Charles I
12.
He won four Hero of the Soviet Union medals, winning all after age seventy. He signed the SALT I treaty, but praised Stalin in a 1965 speech and ordered the 1968 invasion of Czechoslovakia. Between 1964 and 1982, who was the ruler of the Soviet Union?

ANSWER: Leonid Brezhnev
13.
Its financial information network shut down in 2004 and its network partnership with Sports Illustrated ended in 2002. Broadcasts on this network began on June 1, 1980, with a short introduction by Ted Turner. What is this television network whose secondary channel is called ‘Headline News?’


ANSWER: Cable News Network or CNN
14.
It may be possible by using a Tipler cylinder or a Roman ring made of wormholes.  The Novikov self-consistency principle may solve the problem of the grandfather paradox.  Name this phenomenon that is fictionally accomplished by Doc Brown’s De Lorean.

ANSWER:
time travel
15.
This short story’s protagonist did not listen to the old-timer at Sulphur Creek, who said to never travel alone in the Klondike when it is lower than fifty below. The protagonist dies, having failed to perform the title action in what short story by Jack London? 

ANSWER: ‘To Build a Fire’

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
In October 1875, trials in Jefferson City over what scandal, where excise taxes on liquor were diverted to Republican politicians?

ANSWER: Whiskey Ring
1B.
Who originated the term ‘muckraker’ and did not mean it as a compliment, despite his agreement with most of the muckrakers’ goals?


ANSWER: Theodore Roosevelt
2A.
Who is the head of Oncology at Princeton-Plainsboro Teaching Hospital and the closest thing Gregory House has to a friend?


ANSWER: James Wilson
2B.
The Department of Energy plans to eventually send spent nuclear fuel to what site in Nevada?

ANSWER:
Yucca Mountain
3A.
When she was informed of Calvin Coolidge’s death, what Algonquin Round Table member supposedly said, ‘How could they tell?’

ANSWER: Dorothy Parker
3B.
In Australia’s 2007 elections, name either the Prime Minister that lost or the Prime Minister that replaced him.


ANSWER: John Howard or Kevin Rudd
4A.
What simplest amino acid has a side chain of a single hydrogen atom?

ANSWER:
glycine
4B.
What five-letter word comes from a Turkic word meaning ‘a khan’s residence,’ but today describes a large group of people, especially barbarians?


ANSWER: horde
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION. What is the Cartesian equivalent of the polar coordinate (4, PI/3)?


ANSWER: (2, 2 sqrt(3)) (accept equivalents)

5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  After 13 games, a high school basketball team has a record of 4 wins and 9 losses.  What is their final winning percentage if they win 75% of the remaining 12 games? 


ANSWER:  52%
6A.
What unit is used to measure the intensity of sound waves?

ANSWER:
decibel(s) [accept bels]

6B.
What is the Spanish translation of the number five hundred ninety-three? 


ANSWER: cinco cientos noventa y tres or quinientos noventa y tres
7A.
What Colombian wrote Love in the Time of Cholera and One Hundred Years of Solitude? 

ANSWER: Gabriel Garcia Marquez
7B.
The death of Elizabeth in 1762 meant Russia would switch sides in what war?


ANSWER: Seven Years’ War

8A.
Theodosius ordered their College ended in 394 A.D. and put out the fire they guarded. Who were these six Roman women sworn to chastity?

ANSWER: Vestal virgin(s)
8B.
Named for the scientist that stated it, what law states that the total pressure of a gas mixture is equal to the individual pressures of its components?

ANSWER:
Dalton’s law

9A.
What Claudio Monteverdi work, first performed in 1607, is about a musician that seeks to free his wife from Hades, and is often cited as one of the first operas? 


ANSWER: L’Orfeo
9B.
What woman was the mother of Apollo and Artemis?


ANSWER: Leto or Latona
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION. Express the hexadecimal number 4AD as a Roman numeral.


ANSWER:  CDXXIX (accept CCCC for CD or VIIII for IX)

10B.
THIS IS A 30-SECOND COMPUTATION QUESTION. Consider the conic section:  X squared over 400 plus Y squared over 144 equals 1. (X2/400 + Y2/144 = 1).  Now, disregarding units, find the two focal points and the area of that ellipse. 


ANSWER: focal points (16,0) and (-16,0); area is 240
Third period, 15 toss-ups, 10 points each

1.
A small part of the central nervous system, one end of it terminates in the lateral geniculate nucleus.  It is the second of the twelve paired cranial nerves and the site of its attachment causes a blind spot.  Name this nerve that connects the brain and the retina.

ANSWER:
optic nerve
2.
Anyone who is part of the ‘field of membership’ may join one of these financial institutions that pay interest-like dividends to their members. The Navy Federal is the largest one in the United States of what co-operative institution similar to a bank? 

ANSWER: credit union
3.
What diacritical mark is a stylized version of the letters ‘e’ and ‘t’ merged together?


ANSWER: ampersand
4.
One philosopher with this name was from Tarsus and disagreed with other Stoics that the universe dissolved into fire. Another was an Epicurean who held that happiness was dependent on present and continued enjoyment. What name was shared by a philosopher from Elea that had a number of paradoxes, and by a philosopher from Citium that founded Stoicism? 

ANSWER: Zeno
5.
This book’s title character lives at Gateshead, Marsh’s End, Ferndean, the Lowood School, and Thornfield Manor. Rejecting St. John’s marriage proposal, the title character marries Mr. Rochester at the end of what Charlotte Bronte book? 

ANSWER: Jane Eyre
6.
It has a charge of plus two and a mass of 3.727 giga electron volts.  Losing one turns radium into radon and uranium into thorium.  Name this particle of radiation that is equivalent to a helium nucleus and named after the first letter of the Greek alphabet.

ANSWER:
alpha particle

7.
Under the pseudonym Jane Somers, she wrote The Fifth Child and The Good Terrorist. After 1970, she turned to science fiction, such as the Canopus in Argus series. What author of The Grass Is Singing and The Golden Notebook won the 2007 Nobel Prize? 

ANSWER: Doris Lessing 
8.
THIS IS A 10-SECOND COMPUTATION QUESTION.  The record for the 50K walk is 3 hours 47 minutes and 30 seconds.  How many minutes is this?


ANSWER:  227 ½ or 227.5
9.
Laurence Powell was convicted of using excessive force against him in an incident George Holliday caught on video tape. Who said, ‘Can’t we all get along?’ during the 1992 riots that occurred after officers videotaped beating him were acquitted?  

ANSWER: Rodney King
10.
In the cartoon Der Fuher’s Face, he played an artillery shell maker in Nutzi Land.  Tony Anselmo has voiced this character since 1983, replacing the incomprehensible Clarence Nash. In the cartoon series DuckTales, he joined the Navy, leaving his three nephews in the case of his Uncle Scrooge. What pantsless avian is the uncle to Huey, Dewey, and Louie? 


ANSWER: Donald Duck

11.
He used his medical knowledge to make a cement mortar dressing for a wounded Horta. He was the replacement for Philip Boyce and Mark Piper, who appeared in The Cage and Where No Man Has Gone Before.  ‘I’m a doctor!’ and ‘He’s dead, Jim,’ were the taglines said by DeForest Kelley while playing what medical officer of the USS Enterprise? 


ANSWER: Dr. Leonard H. ‘Bones’ McCoy
12.
At its end, the title character says goodbye to his grandmother Nokomis and tells his men to listen to the ‘Black-robe chief,’ a Christian missionary. Minnehaha is the lover of the title character and lives by the shore of Gitchee Gumee in what Longfellow epic? 

ANSWER: The Song of Hiawatha
13.
Vancouver tried and failed to get permission to reproduce it; the result was the statue Girl in a Wetsuit. The Danish government will probably move it further offshore to prevent vandalism. What is this statue of a Hans Christian Andersen character?

ANSWER: Little Mermaid statue (Copenhagen)

14.
In 1769, he was assassinated by a member of the Peoria; he had fled to the Illinois Country after failing to capture Fort Detroit. What Native American chief led a rebellion against the British after the French and Indian War? 

ANSWER: Chief Pontiac
15.
It concerns itself with truth values and operations on them and was devised by a 19th century British mathematician. What concept is applied in computer science with the operations XOR (x-or), NOT, OR, and AND? 

ANSWER: Boolean algebra

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Private Robert Prewitt is killed by a sentry after the Pearl Harbor attack. Prewitt had killed the bigoted James Judson. What book by James Jones is famous for a scene in which Sergeant Milton Warden and Karen Holmes embrace on an Oahu beach? 

ANSWER: From Here to Eternity
2.
The Waltz of the Flowers is one eight selections from this ballet that form the associated ‘Suite.’ The Dance of the Sugar Plum Fairies is in what ballet where Clara turns the title object into a Prince after the slaying of the Mouse King? 

ANSWER: The Nutcracker
3.
THIS IS A 10-SECOND COMPUTATION QUESTION.  If you draw a card from a standard deck what is the probability that a prime number is on the card?


ANSWER:  4/13 (primes are 2, 3, 5, 7)

4.
The landlocked Humboldt River crosses the northern part of this state. It mines over $3 billion worth of gold and silver a year, and has since the Comstock Lode’s discovery. Laughlin and Henderson are suburbs of what state’s largest city, Las Vegas? 

ANSWER: Nevada
5.
It is 98 percent water, but also contains mucus, electrolytes, and some enzymes.  It is produced at a rate of about one quart a day and it contributes to the initial phase of digestion.  Name this substance produced in the mouth also known as spit.

ANSWER:
saliva
All questions ©2007-08 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

